
TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 1- Find the value of (मान ज्ञात कीजिये )

tan35° cot40° tan45° cot50° tan55°.

a) 1

b) 1/2 

c) 1/√2

d) -1
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Ques 2- Find the value of (मान ज्ञात कीजिये )

sin260° + cos230° - sin245° - 3sin290°

a) 1

b) 1/4 

c) 1/3

d) -2
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Ques 3- If Sec θ = 25/24, then what is the value of Sin θ?

यजि Sec θ = 25/24 ह,ै तो Sin θ का मान क्या ह?ै

a) 24/25

b) 7/25

c) 24/7

d) 25/7
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Ques 4- A can finish a work in 18 days and B in 36 days. If they work on it together for 9 

days, then what percent of work is left?

A एक कायय को 18 जिनों में और B उस कायय को 36 जिनों में कर सकता ह।ै यजि वे 9 जिनों के जिए साथ कायय 

करते हैं, तो कायय का जकतना प्रजतशत भाग शेष रहगेा?

a) 33.3

b) 20

c) 75

d) 25
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Ques 5- Two pipes A and B can fill an empty tank in 10 hours and 16 hours respectively. 

They are opened alternately for 1 hour each, opening pipe B first, in how many hours, will 

the empty tank be filled?

िो पाइप A और B एक खािी टैंक को क्रमशः 10 घटें और 16 घटें में भर सकते हैं। उन्हें बारी-बारी से 1 घटें के

जिए खोिा िाता ह,ै पहिे पाइप B को खोिने पर खािी टंकी जकतने घटें में भर िाएगी?

a) 14 
2

5

b) 16  
2

5

c) 10  
2

5

d) 12  
2

5
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Ques 6- A can do a work in 12 days and B in 24 days. If they work on it together for 4 days, 

then what fraction of work is left?

A जकसी काम 12 जिनों में और B उसे 24 जिनों में परूा कर सकता ह।ै यजि वे 4 जिनों के जिए एक साथ काम करते 

हैं, तो काम का जकतना जहस्सा शेष रहता ह?ै

a) 1/3

b) 1/2

c) 1/4

d) 1/5
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Ques 7- If (x + y) : (y + z) : (z + x) = 9 : 6 : 11 and x + y + z = 26 , then find the the value of 

(x + y2 + z )

यजि (x + y) : (y + z) : (z + x) = 9 : 6 : 11 और x + y + z = 26 , तो (x + y2 + z ) का मान ज्ञात 

कीजिए।

a) 19

b) 52

c) 56

d) 38
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Ques 8- Suresh, Dinesh and Ramesh started a business by investing Rs. 1,35,000, Rs. 

1,50,000 and Rs. 1,65,000 respectively. Find the share of each (respectively), out of an 

annual profit of Rs. 60,000.

सरेुश, जिनेश और रमेश ने क्रमशः 1,35,000 रुपय,े 1,50,000 रुपये और 1,65,000 रुपये जनवेश

करके एक व्यवसाय शरुू जकया। 60,000 रुपये के वाजषयक िाभ में से प्रत्यके (क्रमशः) का जहस्सा ज्ञात

कीजिय?े

a) Rs. 20,000; Rs. 22,000; Rs. 25,000

b) Rs. 18,000; Rs. 20,000; Rs. 22,000

c) Rs. 20,000; Rs. 21,000; Rs. 22,000

d) Rs. 18,000; Rs. 20,000; Rs. 21,000
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Ques 9- A retailer marks up the price of his goods by 30%. He sells 50% of his goods at a 

discount of 8% and the remaining at a discount of 6%. Find his profit percentage.

एक खिुरा जवके्रता अपने माि की कीमत 30% अजिक अंजकत करता ह।ै वह अपने माि का 50% 8% 
की छूट पर और शेष 6% की छूट पर बेचता ह।ै उसका िाभ प्रजतशत ज्ञात कीजिए।

a) 19.4%

b) 20.9%

c) 17.6%

d) 13.2%
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Ques 10- The area of an equilateral triangle is 676√3 cm2. What is the length of the 

inradius?

एक समबाहु जिभिु का क्षेिफि 676√3 सेमी2 ह।ै अंत:जिज्या की िम्बाई जकतनी ह?ै

a) 24√3

b) 26 / 3

c) 26√3 / 3

d) 26√3
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Ques 11- A shopkeeper sells two bags for Rs. 5000 each. On one, he gets 15% profit and on 

the other he gets 15% loss. Find his profit or loss percentage for the bags

एक िकुानिार िो बैगों को 5000 रुपये प्रत्येक की िर से बेचता ह।ै एक पर उसे 25% का िाभ होता है और

िसूरे पर उसे 25% हाजन होती ह।ै बैगों के जिए उसका िाभ या हाजन प्रजतशत ज्ञात कीजिए?

a) 6.25% loss

b) 2.25% loss

c) 2.25% profit

d) 6.25% profit
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Ques 12- A boat can move at a speed of 5 km/h in still water. The sailor reaches a place by 

sailing at a speed of 6 km/h downstream and comes back in 1 hour. The place is at a distance 

of:

एक नाव शांत िि में 5 जकमी/घटंा की चाि से चि सकती ह।ै नाजवक को िारा के अनकूुि 6 जकमी/घटंा की

चाि से नौका चिा कर के एक स्थान पर िाने और वापस आने में 1 घटंा िगता ह,ै तब वह स्थान जकतनी िरू

ह?ै

a) 2.5 km

b) 2.0 km

c) 3.2 km

d) 2.4 km
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Ques 13- Total compound interest (compounding half yearly) received on a sum at the end 

of 1.5 years at the rate of 20% per annum is Rs. 1655. What is the sum? 

1.5 वषों के अंत में 20% प्रजत वषय की िर से जकसी िनराजश पर प्राप्त कुि चक्रवजृि ब्याि (अियवाजषयक

चक्रवजृि) 1655 रुपये ह।ै िनराजश क्या ह?ै

a) 5500

b) 4500

c) 5000

d) 4800
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Ques 14- What is the effective rate of C.I. for 2 years if rate of interest for first year is 4% 

and rate of interest for second year is 5%.

यजि पहिे वषय के जिए ब्याि िर 4% है और िसूरे वषय के जिए ब्याि का िर 5% ह,ै तो 2 वषय के जिए

चक्रवजृि ब्याि की प्रभावी िर क्या ह?ै

a) 9 %

b) 10 %

c) 9.20 %

d) 10.20%
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Ques 15- If the compound interest on a principal for one year is Rs. 2000 and the compound 

interest for 2nd year is Rs. 2400. Find the rate of interest.

यजि एक मिूिन पर पहिे वषय का चक्रवजृि ब्याि 2000 रुपये है और िसुरे वषय का चक्रवजृि ब्याि 2400

रुपये ह।ै ब्याि की िर ज्ञात कीजिए।

a) 5%

b) 10%

c) 15%

d) 20%



TARGET MATHS- 25/25

Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

Ques 16- If the compound interest on a principal for one year is Rs. 2000 and the compound 

interest for 2nd year is Rs. 2400. Find the rate of interest.

यजि एक मिूिन पर पहिे वषय का चक्रवजृि ब्याि 2000 रुपये है और िसुरे वषय का चक्रवजृि ब्याि 2400

रुपये ह।ै ब्याि की िर ज्ञात कीजिए।

a) 5%

b) 10%

c) 15%

d) 20%
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Ques 17- 120 men in army camp has provisions for 150 days food. After 5 days 45 men left 

the camp then the remaining food will last long for how many days ?

उिा:- एक सेना की टुकड़ी में 120 िोगो का 150 जिनों का खाना पयायप्त ह।ै 5 जिनों के बाि उनमे से 45
िोग टुकड़ी को छोड़ ितेे ह,ैतो अब बचा हुआ खाना जकतने और जिनों तक चिेगा ? 

a) 212 days 

b) 224 days  

c) 160 days

d) 232 days 
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Ques 18- A’ work twice as fast as ‘B’. If both of them can together finish a piece of work in 

12 days, then ‘B’ alone can do it in-

A, B की तिुना में िोगनुा तेज़ ह।ै यजि िोनों ही जकसी कायय को साथ में 12 जिनों में ख़त्म करते है , तो B 

अकेिा उस कायय को जकतने जिनों में समाप्त करेगा ?

a) 24 days  

b) 48 days  

c) 36 days 

d) 18 days 
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